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V Semester B.Com. Examination, November/December 2016
(Semester Scheme)
- COMMERCE
5.6 : Elective Paper — Il : International Finance

Time : 3 Hours Max. Marks : 70

Instruction : Answer all the questions either completely in English or
Kannada.
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English Version
SECTION-A

. Answerany five questions. Each question carries two marks :

a) What is global innovation ?
b) Expand IMS and IMF.
¢) Whatis FDI ?

d) What is credit risk ?

e) What are treasury bills ?
f) What is international liquidity ?

g) What is fluctuating exchange rate ?
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SECTION-B

Answer any three questions. Each question carries six marks :

2. Distinguish between future and forward contract.

: _3-

What is FERA ? What are the objectives of FERA?
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4. Write a note on ADRs.
5. Explain the scope of international finance.

6. Explain the types of exehange rates.

SECTION-C

Answerany three questions. Each qQuestion carries fourteen marks

7. Explain the functions of future market ? State its characteristics.
8. Whatis BOP ? Describe various types of BOP. :
9. Explain ip detail international portfolio management.

10. Explain in detail issues in international finance.

11. Discuss the role of IMF in international business.
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